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1. 1889 weal Had A =i Q1 alorg w1 fori=n FIEuArarg i wea F a9 ?

(1) =g e (2) e HiEl FvE wd

(3) Wt Rifqan o (4) wed fage Tash o

In 1889, who called a meeting of barbers in Bombay and discouraged them from
tonsuring women ?

(1) Justice Ranade (2) Maharshi Dhondo Keshav Karve
(3) Mahatma Jyotiba Phule (4) Maharshi Vitthal Ramji Shinde

2. e feoen Yeme R w R R sufon wih S @ w3 aren s g,

(a) ey gtw (i) oA FHE TE

(b) T, THER 1@ (ii) egTEne-faderEne &

(c) =i dere (iii) TEATETHI® T T @
(d) fetewe faig (iv) 3Ty

REICIELE

(@) (b) (e) (d) (@) (b) (e) (d)
(1) () () () (i) (2) @v) @) () (i)
(3) () (iv) () () (4) (i) (v) (@) (i)

Match the following leaders of the Hyderabad State Congress with their work and
places of work.

(a) Govindbhai Shroff (i) Head of Action Committee

(b) M. Ramchandra Rao (ii) Hyderabad-Secunderabad Area

(c) Dr. Melkote (iii) In-charge of struggle in Marathwada
(d) Digambarrao Bindu (iv) Andhra

Answer Options :

(@) (b) (e) (d) (@) (b) (e) (q)
(1) () (i) (i) (iv) (2) (v) (1) (i) (i)
(3) () (v) (i) (i) (4) () (iv) (i) (i)
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.3. SirEm e
(a) W@ (i) SN TS AT TR S A e
TATTIEEST YATeG! Fieet.
(b) TR HaT SafeT (ii) IToA TENE FAdEE et st fage 2.
(c) TN FawaHT (ii) IS TSt e @ie wwew Tefava
(d) ST TS FEist (iv) 3T frwe anfor e vt 3wm foda,
I 3N
(@) (b) (c) (q) (a) (b) (e) (d)
(1) (1) (i) (i) (iv) (2) (i) (1) (i)  (iv)
(3) (v) (i) (i) (i) (4) (i) (1) (iv) (i)
Match the following :
(a) The Peshwas (i) Built Library of English books and

Laboratory for scientific experiments.

(b) Maharaja Sawai Jaysingh (i) Had European doctors and scholars in the

court.

(c) Raghunath Navalkar (iii) Asked the Portuguese king to send
Portuguese astronomers.

(d) Raja Sarfoji of Tanjore (iv) Learnt English and wrote well in the
language.

Answer Options :

@ () () @ (@) (b) () (d)
(1) () (i) (i) (v) (2) () (i) () @)
3) (v) () () (i) (4) (i) (i) (iv) (i)
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4, Gﬁ'{-ﬁ]‘l@ﬁl:
(a) HIHH (i)  HoFad] TARIIR
(b) IR (i) Yag yiaw faet
(c) TR (i) @hfrem @@
(d) T (iv) 3 wevma fasia
T I
(a) (b) (e) (d) (a) (b) (c) (d)
(1) i) G) Gv) () ) () (i) (i) @)
(3) (v) (i) () (i) (4) (i) (i) (Gv) (i)
Match the following :
(a) Mayurbhanj (1) Central Administration
(b) Kolhapur (i) Merged into Bombay Province
(c) Rampur (1ii)) Merged into Orissa
(d) Bhopal (iv) Merged into Uttar Pradesh
Answer Options :
(a) (b) (e) (d) (a) (b) (c) (d)
(1) () (@) @Gv) (i) (2) () (1) (i) (i)
(3) (iv) (ui) (i) (i) (4) (i) (1) (@v) (i)
5. W 757 T ardte frafd= gev smoe ‘e fewdl’ @ v fodion.
(1) Tt (2) @eTed (3) HERHE (4) uftes

wrote ‘Natural History’ in 75 A.D. in which there are references to
exports from India.

(1) Pliny (2) Herodotus (3) Megasthenes (4) Periplus

6. TEI@US! HI A USSRl ARl feaeh gre 2

(a) TR, g™ (b) e, srafes

(c) Hewme TEA (d) FHR T

Tt 3

(1) (a) =01 (b) o 2)

(3) (c) =T (d) wa (4) (a), (b) =0f0T (d) Fe

Who from the following persons were the court painters of Shahajahan ?
(a) Mir, Hasham (b) Chitramani, Anupchitra
() Muhammad Hassan (d) Fakir Ulla

Answer Options :

(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a), (b) and (d) only
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7., TEI® Ml swemEaEr qie w.
(a) WifshEr=n 3Ua
(b) TSt e HGH HerEet
(c) TS A
(d) Tawen ufteg
gt I
(1) (a), (d), (b), (c) (2) (a), (b), (c), (d)
(3) (b), (a), (d), (c) (4) (o), (b), (a), (d)
Arrange the following things in chronological order.
(a) The Pakistan Resolution
(b) Rejection of Rajaji’s proposal by the Congress
(c) The Rajaji Formula
(d) Simla Conference
Answer Options :
(1) f(a), (d), (b), (¢) (2) (a), (b), (c), (d)
(3) (b), (a), (d), (c) (4) (<), (b), (a), (d)
_8. S o siwa,

(1) = - aiH 21g

(2) Toanm 2@ - faer

(3) TR T@ - S

(4) fézwam dvieone frosdid i - 3W ew
Which of the pair from the following is wrong ?
(1) Dastas - Bankroka Tapu

(2) Siaram Dal - Bihar

(3) Parshuram Dal - Orissa

(4) Hindustan Socialist Republican Army - Uttar Pradesh
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Srem el
(a) uRedd (i)  Ayefaerdie gord HemE TbE
(b) ST (i) et weferrs 47 fae sma
(c) —WerEwl-are (i) wfag T
(d) S (iv) ArEe HiEH
g I

(a) (b) (e) (d) (a) (b) (e) (d)
(1) (iv) (i) (1) (1) (2) (i) (iv) (i) (i)
(3) (i) (i) (1) (iv) (4) (i) (1) (v) (iii)
Match the following :
(a) Parikshit (i) is the hero of a famous song of praise found in

Atharvaveda

(b) Janamejaya (ii) is credited with having gone round the earth
(c) Pravahana-Jaivali (iii) Famous Philosopher
(d) Janaka (iv) The patron of Yagnavalkya
Answer Options :

(a) (b) (c) (d) (a) (b) (e) (d)
(1) f(iv) (1) (1) (i) (2) (i) (iv) (i) (i)
(3) (1) (@) (@) (i) (4) (1) (1) (v) (i)

10._ TErots wvre et i anfer @rdameE sfias ool oevaM g & 8 ?

(a) wHHSRE! (b) &1 e (c) Tae Hedl
(d) THEE FHIR (e) THIEE T
wi-é’raa‘t 3

(1) (), (c) =0T (e) Fe (2) (b), (c), (d) 3o (e) Tt
(3) (), (b), (c) T (d) e (4) (a), (b), (c), (d) 37 (e)

Who from the following women inspired the womanhood to fight the non-violent
war of independence ?

(a) Kamladevi (b) Hansa Mehta (c) Ratanben Mehta
(d) Ramibai Kamdar (e) Laxmibai Garde

Answer Options :

(1) (a), (c) and (e) only (2) (b), (c), (d) and (e) only

(3) (a), (b), (c) and (d) only (4) (a), (b), (¢), (d) and (e)
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11.

8 D
Gﬁwm :
(a) HFE Tm () TRt =H ‘I'%"_ e =
(b) =i, feaw (i) RGeS GrETeA a9y faliumg @i Jwa@
(c) O o T (iii) Heg=n FrRofl FeHR AR T e qEaErd s o
(d) Tada foeed (iv) Sy T fede
it 39T

(a) (b) (c) (d) (a) (b) (c) (q)
(1) (iv) (i) (i) (i) (2) (v) (iii) (i) (i)
(3) (i) (i) (i) (iv) (4) (1) (1) (iv) (iii)
Match the following :

(a) Mukunda Das (i) Swadeshi Steam Navigation Company

(b) B.G. Tilak (ii) Swadeshi movement against the use of foreign
sugar

(c) Lala Lajpat Rai (iii) Requested the Bombay Mill owners to supply
dhotis at moderate rates

(d) Chidambaram Pillai (iv) Composed patriotic songs

Answer Options :

(@) (b) (e) (d) (a) (b) (e) (d)
(1) (v) (i) (i) (i) (2) (v) (i) (i) (3)
(3) (1) (1) (i) (iv) (4) (i) (1) (v) (i)
12._ JEI® A1 JEIeUsh! S qUH He e ?

(a) o AW fSeRdies 1o e 2.

(b) T forequr <elt v S 4.

(c) HERTZII® SHdaR e STewn’ =1 g qiems S e

(d) T g THSI A TG A, AT fSequrea s9ErE Sy FET 29,
ot 39T

(1) HyEE fa=r (2) ITER =TS

(3) «ISd IS (4) FUNE qFH

Who from the following is described in the following sentences ?

(a) He was from the Kale village in Satara district.

(b) He had studied upto fourth standard.

(¢c) His Jalsa’ had tremendous impact on the people of Maharashtra.

(d) He used to make the Bahujan Samaj’ aware of their pitiable condition and
lack of education in them.

Answer Options :

(1) Keshavrao Vichare (2) Ramchandra Ghadge

(3) Bhaurao Patil (4) Krishnarao Bhalekar
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13, WEStE! HUA YOI HAL W0GTite 81 ?

(a) Tas@m (b)  HETHIE

(c) THIEHGE (d) 9 ST

it I

(1) (a), (b) 3fU (c) ek (2) (b) 3N (c) e

(3) (b), (c) 3mfor (d) 4) (a), (b), (c) Znfor (d)

Who from the following Sultans were from the Sayyad dynasty ?

(a) Khijrakhan (b) Mubarakshah

(c) Muhamadshah (d) Allauddin Alamshah

Answer Options :

(1) (a), (b) and (c) only (2) (b) and (c) only

(3) (b), (c) and (d) only (4) (a), (b), (c) and (d)

03 A, 1945 ISt ITCTE TS T Aefie nfeandiA TR W FEA IS FoA T

14.

o |ifae ?

(1) == ifea (2) i@ TEaRt

(3) I e (4) st qiee

Who gave a speech at the conference of aboriginals at Zari in Umbargaon Taluka
on 234 May, 1945 and asked them to end the practice of Forced Labour ?

(1) Kama Randive (2) Godavari Parulekar
(3) Shamrao Parulekar (4) Devji Tandel
15 IETe U9 %™ ol ? -
(a) Tl (b) STFAE (c) AEF
(d) & (e) R (M W
(g) TAFHI® (h) TR (i) @RS
gt 39T
(1) HAH=arde T4
(2) HHZ TE@ I A A T
(3) =EEFE T
(4) T T gew
What were the following States ?
(a) The Malavas (b) Arjunayanas (c) Yaudheyas
(d) Madrakas (e) Abhiras (f) Prarjunas
(g) Sanakanikas (h) Kakas (i) Kharaparikas

Answer Options :
(1) The States of Aryavarta

(2) The tribal States which surrendered to Samudra Gupta
(3) The States of Deccan

(4) The territories of Naga rulers
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""16. e o

WY -1 wy -1

(9TET) ( &= weral )
(a) Uy (i) @A
(b) o= (i) /A
(c) @M (iii) fm
(d) fF= (iv) f& (Seine)
it 39y

(a) (b) (c) (d) (@) (b) (c) (d)
(1) (iv) (i) (i) (ii1) (2) (iv) (i) (iii) ()
(3) (i) (iv) (i) (iii) (4) (iii) (iv) (i) (i)
Match the following :

Column - I Column - II

(Cities) (On River Bank)
(a) Paris (i) Rhine
(b) Geneva (i) Rhone
(c) Bon (iii) Dneper
(d) Kiev (iv) Seine
Answer Options :

(@) (b) (e) (d) (@) (b) (c) (d)
(1) (iv) (1) () (i) (2) (v) (1) (i) (i)
(3) () (iv) (1) (i) (4) (i) (v) (1) (i)

17, GO Al feoe gedn Smder’ S Hefid yreEsie site SEl.

(a) df@EmM (i) S e e gearE
(b) Ee=A (i) TTEEETET g S=mEn
(c) HreTEA (iii) ST S FE Hedn
(d) R Gi=d (iv) wfd 21 St sra 3ead
U 39

(a) (b) (c) (d) (@) (b) (c) (d)
(1) (iv) (i) (i) (i) (2) () (v) () (iii)
(3) (i) (1) (iv) (i) (4) (i) (i) (iv) (i)

Match the important words in the definition of ‘optimum population’ with the
scholars who gave them.

(a) Boulding (i) maximum economic growth
(b) Dalton (ii) maximise standards of living
(c) Peterson (i1i) maximum social welfare
(d) Car Saunders (iv) maximise income per head
Answer Options :

(a) (b) (c) (d) (a) (b) (e) (d)
(1) f(v) (i) (i) (i) (2) (i) (v) () (i)
(3) (i) (i) (iv) (i) (4) (1) (i) (iv) (id)
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18, T Hioe faewli Srhs@n wwa sqfor feim gt SETE 2011 960 aE i 7

e AT feim i
(a) 3 886 986
(b) ¥R 393 934
(c) FicE 319 943
(d) SmEre 366 920
qgiEt I
(1) (a), (b), (d) (2) (&), (o), (@) (3) (b), (c) (4) (b), (c), (d)

Which of the following districts have their correct density of population and sex
ratio as per census 2011 ?

District Density Sex ratio
(a) Thane 886 986
(b) Nashik 393 934
(c) Nanded 319 943
(d) Aurangabad 366 920

Answer Options :
(1) (a), (b), (d) (2) (), (c), (d) (3) (b), (c) (4) (b), (c), (d)

19, YRaY HrEH aN SRvEEe! vl dt RO 2R ?
(a) @ faga
(b) wrETeR fa= AN sEoe 9
(c) 30°d 40° AL 91 S JarRM e
gt 3T

(1) ™ (a) (2) T (b) (3) (a) 37O (b) (4) (a), (b) =T ()
Which situation is responsible for the monsoon winds in India ?

(a) Extensive land area

(b) Sea lies on three sides of India

(c) Existence of Jet stream in 30° to 40° latitude belt

Answer Options :

(1) Only (a) (2)  Only (b) (3) f(a) and (b) (4)  (a), (b) and (¢)

oAl FHIWETS AT /SPACE FOR ROUGH WORK
P.T.O.
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(1)

(3) TaAMR, Hg@ER, vgmd

VIBTE], WG, STaheEl

(2) w4=TE ,]m‘h -37—41-:,
(4)  STHFEFAl, UETE, AGEN

Find right sequence of tahsils from north to south in Nandurbar district.

(1) Shahada, Dhadgaon, Akkalkuva (2) Dhadgaon, Taloda, Nandurbar
(3) Navapur, Nandurbar, Dhadgaon  (4) Akkalkuva, Dhadgaon, Nandurbar
21., e &

(7<) ( wfere wfedt )
(a) fay (i) oeETe B FEYsh 39 Y 3 e,
(b) Tt (i) fie Aefte HFEERETSE ST de.
(c) = (i) g foeRIde Tagel ve6d T 3T e,
(d) wEd (iv) WA VRO THiehed chedine] 3T Tad.

(v) fv=m =Emde sl 96d T 39 6.

Tt I '

(a) (b) (e) (d) (a) (b) (e) (d)
(1) (v @ @G (2) @) (@) () (v)
(3) @) @v) v @) (4) (1) (i) (iv) (v)
Match the following :

(River) (Details)
(a) The Indus (i) Rises from semi-arid highlands of Chhattisgarh.
(b) The Tapi (ii) Rises in Tibet, near lake Mansarowar.
(c) The Narmada (iii) Rises in the Satpura ranges, in the Betul district.
(d) The Kaveri (iv) Rises in the Amarkantak hills in Madhya Pradesh.

(v) Rises in the Brahmagiri range of the Western Ghats.

Answer Options :

(a) (b) (e) (d) (@) (b) (e) (d)

(1)
(3)

(iv)

(ii)

(1)

(iv)

(i)
(v)

v)
(i)

(2)
(4)

(iii) (i)

(i1)

(iv)

(v)
(v)

(iii) (iv)

@Al FHIATEE AN /SPACE FOR ROUGH WORK
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Y22, Sirem oo

URare WeE it s
(a) < foft (i) Femym, s
(b) Tawdt ot (ii) faeeht, s
(c) T goft (iii)  Frew, T
(d) STEH-3R Avft (iv) WW
gl I :

(@) () (e) (d)
(3) (1) (1) (iii) (iv) (4) (1) (i) (iv) (i)
Match the following :

Dharwar Rock System Area
(a) Champion series (1) Singhbhum, Bonai
(b) Chilpi series (ii) Delhi, Alwar
(c) Rialo series (iii) Kolar, Raichur
(d) Iron-ore series (iv) Balaghat, Jabalpur
Answer Options :

(@) (®) (e) (d) (@) (b) () (d)
(1) (i) (iv) (i) (i) (2)  (v) (i) (i) (9)
(3) () (i) (i) (iv) (4) (1) @) (@v) (i)

23.” T faurE iy &1 9rg 99y fae

(a)
(b)
vt 3T

(1) (a) =0for (b) ==
(3) (a) IF (b) s

FEAII YA il & 78° 7d T@Igara Yaer .
AT T FHleH] ST 50% Hid! S, SHWTE F FRGE & T=Aq el

(2)
(4)

() SIS (b)
(a) Sufo (b) T

Examine the following statements and select the proper option.

(a)
(b)

Majority of the coal fields found in India to the east of 78° East Longitude.
The states of Orissa, Chhattisgarh and Jharkhand constitute more than

50% of the total coal production of India.

Answer Options :
(1) (a) and (b) true
(3) (a) false (b) true

(2)
(4)

(a) true (b) false
(a) and (b) false

oAl HIATATS! AT/ SPACE FOR ROUGH WORK
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24. &I faum fammma o
() e @ doit @ v anfor e A W SEe.
(b) “aTe Wew Aviy Sreaf, dfe JIed,
(c) Tiea @e vime qre Head qawh TATA S@e.
Tt I
(1) wa faum (a) seR 2R
(2) wE faum (b) st R
(3) faum (b) afon (c) sER amea
(4) faum (a), (b) afin (o) SR oMRA
Consider the following statements :
(a) The Cuddapha rock system is found in Penganga and Godavari river basins.

(b) Iron ore and Manganese is found in Dharwar rock system.
(c) Coal is found in Gondawana rock system on ample scale.
Answer Options :

(1) Only statement (a) is correct

(2) Only statement (b) is correct

(3) Statements (b) and (c) are correct

(4) Statements (a), (b) and (c) are correct

25.  Tag= armguidie S faee st @ 2
(a) © 9N Tah! qEAEEA dAredw.
(b) & 91 Tfa YR e
(c) ¥ 9N ead qaared] el SeaEd S T,
(d) ¥ 9N FRA FEEHET ared.
TgTdt 39
(1) (a), (b) (2) (a), (c) (3) (b), (c) 4) (o), (@)
Which statements are incorrect regarding Chinook winds ?
(a) These winds blow on Rocky mountain.
(b) These are the local winds.
(c) These winds climb Alps mountain from its south side.

(d) These winds blow in Rhine river valley.
Answer Options :

(1) (a), (b) (2) (a), () (3) (b), (¢) (4) (c), (d)

FoAT HIHTETS A/ SPACE FOR ROUGH WORK
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AR SN e (qHemm) w7 2

(a) AR AT FATIId U IGET HE YT T8,

(b)  IASTHATA AR QREST FIVAH sre=vi fmio B s

(c) nYfeh Vet star=i=n anfeder gresn v wazd @,

(d) VTR SAfRTa @& a0 anfefd T wae T,

it 34T

(1) % fGuA (a) s 3R,

(2) o™ (a) 371 (b) SR 7R,

(3) T (b), (c) SN (d) =R a7,

(4) Taum (a), (b), (c) 30T (d) S R,

What happened in Maharashtra due to fragmentation of agricultural land ?
(a) Farmer is not able to produce food grains, sufficient for his family.
(b) There are obstacle to supply water to agricultural land.

(c) The use of modern agricultural tools is uneconomical.

(d) To pay individual attention on agriculture is uneconomical.
Answer Options :

(1) Only statement (a) is correct.

(2) Statements (a) and (b) are correct.

(3) Statements (b), (c) and (d) are correct.
(4) Statements (a), (b), (c) and (d) are correct.

27.

AT e Wiee wqd faumme favme sae. @i g w1 e

(a) FES H (b) @S I

(c) Y@ET FewH M0 goid (d) HYW-TIE §IR 981

(e) e arH f_H () ¥R

gt I

(1) %@ (a), (b), () S () (2) % (a), (b), (e) ST (f

(3) %A% (a), (b), (d) ST (D (4) %A@ (b), (o), (d), (e) 3 (f

The Ocean floors are divided into the following major divisions. Select the correct
option.

(a) The continental shelf (b) The continental slope

(c) The continental ridge and hills (d) The shallow-deep sea plateau
(e) The deep sea plain (f) The oceanic deeps

Answer Options :

(1) Only (a), (b), (c) and (e) (2) Only (a), (b), (¢) and (f)

(3) Only (a), (b), (d) and (f) (4) Only (b), (c), (d), (e) and (f)

FHeeAT HTATATS! A/ SPACE FOR ROUGH WORK
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. 28. mwwmaagqﬂ%mmm,mmmﬁmﬂaammwmm

e A% H S ?
(1) H&@ 6:30 9 G 6:30 (2) WEFR3 6:30 9 TH@ 6:30
(3) HF@ 6:30 9 GEH@ 5:30 (4) HrE®Hs 6:30 9 Wi 5:30

If the time in India is 12:00 Noon, what would be the time simultaneously at the
Greenwich meridian and the International date line, respectively ?

(1) Morning 6:30 and Evening 6:30 (2) Evening 6:30 and Morning 6:30

(3) Morning 6:30 and Evening 5:30 (4) Evening 6:30 and Morning 5:30

29.

oo Ffrafa 3= <@ e fayagea FH @ fawrmas areurn ardi
TR,

(1) wenfe an (2) ufedt ar

(3) =AU AR (4) BFRER

The winds blowing from the subtropical high pressure belt towards the equatorial
low pressure area known as

(1) Local winds (2) Westerlies
(3) Trade winds (4) Mountain winds
30. TENILTHE go= Heuidie faum el

rd

(a) YR ged SHegfafam 9 SEm TH SR 3.

(b) =i ey 37 TamE favmTa e

(c) Tl Ta1 Wew fSerd WS

(d) dfere gea feg g wEo FHi .

T 39T

(1) e faum (a) SR 3R,

(2) Taum (a), (b) &0 (c) U=R e,

(3) faum (a), (o), (d) T .

(4) faum (a), (b), (c) MO (d) SR 3AeE.

Observe the statements regarding soils in Maharashtra.
(a) Regur soil contains Aluminium and Iron on sufficient level.
(b) Lateric soil is found in moist climate.

(c) Red soil is found in Bhandara district.

(d) Red soil contains less amount of organic matter.
Answer Options :

(1) Only statement (a) is correct.

(2) Statements (a), (b) and (c) are correct.

(3) Statements (a), (c), (d) are not correct.

(4) Statements (a), (b), (c) and (d) are correct.

oA FHTATATE A/ SPACE FOR ROUGH WORK
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31. WWW@MWWWW)
(a) etz (b) TEEE AT
(c) SfHrem amed oM ses (d) Iefqare It
I 39T
(1) i (a), (b) =for (d) (2) W (a), (b) O ()
(3) ™ (a) (4) =fie d
Habitat destruction can happen due to which of the following activity ?
(a) Deforestation (b) Reclamation of Marsh
(c) Change of land use pattern (d) Subsistence farming
Answer Options :
(1)  Only (a), (b) and (d) (2) Only (a), (b) and (c)
(3) Only (a) (4) All the above
32." s o o
T FEiaR | ygyors afom.
WY -1 WY - I
( TSI 9T ) (=rd)
(a) 100 dB (i) g sTeYe
(b) 40 dB (i) rderTaEr e
(c) 70dB (iii) SFTIEE FGo1 IHAHT 2
(d) 90dB (iv) v =T
TItdt 39T
(a) (b) (e) (d) (@) (b) (e) (d)
(1) (1) (1) (@) (iv) (2) (i) (1) (iv) (i)
(3) (1) () (v) (1) (4) (iv) (i) (@) (i)
Match the following :
Impact of Noise on Human Activities.
Column-I Column-II
(Noise level) (Human Activities)
(a) 100 dB (i) Sleep Interference
(b) 40 dB (ii) Loss of Working Efficiency
(c) 70dB (iii) Permanent Loss of hearing
(d) 90dB (iv) Speech Interference
Answer Options :
(a) (b) () (d) (a) (b) (e) (d)
(1) (i) (i) (i) (iv) (2) (1) (1) (iv) (i)
(3) (1) (i) (iv) (i) (4) (iv) (i) (1) (i)
FoAl FHIUTATS AN/ SPACE FOR ROUGH WORK e
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WY -1 WY - 11
( wroft st ) (WEd)
(a) fawe® (i) fereshin @
(b) =g (ii) e TTEY TR
(c) wT* (i) e gefrema
(d) g (iv) SSUIEA HL&
Tt I
(@) (b) () (d) (@) () () (d)
(1) () Gv) () (i) (2) (i) @v) (i) ()
(3) (i) @v) (i) (i) (4) Gv) () (i) (i)
Match the following :
Column-I Column-II
(Valuable Fauna) (Importance)
(a) Insects (i) Consume insects
(b) Snakes (ii) Crops-pollinators
(c) Frogs (iii)) Soil fertility
(d) Earthworms (iv)] Protect damage from Rodents
Answer Options :
(a) (b) (c) (d) (@) (b) (e) (d)
(1) @) (v) () (i) (2) (i) (v) (i) ()
(3) (i) (iv) (1) (ii) (4) Gv) (1) (i) (i)
"34.

G 0] FFT=AT Sl 1952 41 SR Ga T 20T 3RA 31 R 10 3 2
(1) enfererde fam (2) efmEde &t
(3) @A Feel (4) TS SewE

Which of the following species was declared extinct in India long back 1952 ?
(1) Asian Cheetah (2)

(3) Desert Fox (4)

Asian Elephant
Gangatic Dolphin

Tl FHTATETS A/ SPACE FOR ROUGH WORK
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35., SireT o
Y -1 Y - 11
( 915 urek ) (=)
(a) THYTH (i) Tien
(b) WTEH WRER (i) ITEE
(c) Towdue (iii) TFUTES w29
(d) g4 (iv) 3frErom
It 39T
(@) (b) (e) (q4) (@) (b) (e) (d)
(1) (11) (iv) (i) (i) (2) (1) (i) (iv) (i)
(3) (i) (i) (i) (iv) (4) (i) (1) () (i)
Match the following :
Column-I Column-II
(National Parks) (State)
(a) Naramdapha (1) Goa
(b) Bhagwan Mahavir (ii) Uttarakhand
(c) Simlipal (111)) Arunachal Pradesh
(d) Dudhwa (iv) Odisha
Answer Options :
(a) (b) (e) (d) (@) (b) (e) (d)
(1) (i) (v) (i) (i) (2) (1) () (iv) (i)
(3) (i) (i) (i) (iv) (4) (iid) (1) (iv) (i)
“36. WyFWHAI IwE@ dER/H (PMUY) e/ e
(a) WfeeT a qol=a ARFE GHRON
(b) e wewHTF
(c) ofafEa TermiafH
TgiEt I
(1) (a), (b) e (2) (b), (c) ®
(3) (a) W (4) i@l del
The objective/s of Pradhan Mantri Ujjwala Yojana (PMUY) :
(a) Improved health of women and children
(b) Women empowerment
(c) Additional employment generation
Answer Options :
(1) (a) and (b) only (2) (b) and (c) only
(3) (a) only (4) All the three above
FHoAT HIWTETS AT/ SPACE FOR ROUGH WORK P.T.0
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“37. sy’ et @ wfger @ S e JEe Foren s ?
(a) WH@TE gA SEUATE! WU/ T (b) Y wiferat wifed!

(c) wfEwi=n B asR (d) 3= HIE g =X
Qi 3N

(1) (a) =0T (d) (2) (a), (b), (c) 0 (d)
(3) (), (c) =mfor (d) (4) (a), (b) =0 (d)

The “missing” girls and women’ phenomenon occurs due to which of the following
factors ?

(a)
(c)

(1)

preference for male child (b) inadequate data

women trafficking (d) high maternal mortality ratio
Answer Options :

ol ) (2) (a), (b), (c) and (d)

(@), (c) and (d) (4) (a), (b) and (d)

(3)

38. ‘HHT we¥ UM AN (SAGY) AEd WA HIU G T A ?

(1)
(2)
(3)

(4)

LA 2016 HHA HIEL HIUFME .

FHER 2019 Td 2 faan sifus wige feow fawfaq & weam.
71 & WRATS 2,500 e sfs @<t qEifae e,
FASIH! THE AL

Consider the following statement about “Sansad Adarsh Gram Yojana” (SAGY),
which of the statement is not correct ?

(1)
(2)
(3)
(4)

Introduced in September, 2016
MP’s can develop 2 or more model village by 2019
Covering over 2,500 villages in India

None of these

FHoeAT FIATATS! A/ SPACE FOR ROUGH WORK
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39. qa’mﬁ v/t faums /A atEw sne/q?

(a) ULHE 9@ TS Yhed 2015 T8 & FI0919 377,

(b) T =1 9 o - 14 T STATTE A /TS g Y Foe GoiT AHah qraE

s <.
(c) TSI Gl wocdl ol Teaddd fes 9.
Tt 3
(1) (a) FH (2) (b) e (3) (a) 3T (b) B~ (4) o wE

Which of the following statement/s is/are correct ?
(a) National child labour project was launched in 2015.

(b) It provides vocational training to children rescued from work force in the age
group of 9 - 14 years.

(c) It gives stipend to rescued children.

Answer Options :
(1) (a) only (2) (b) only (3) (a) and (b) only (4) all of them

40. TEie faum foe=mm =
(a) LT 3T e AEA 2007-2008 & & FHIUATT T,
(b) g, T MU SR A Iee arEferd & e ¥ .
it 39
(1) & (a) S AR (2) W (b) TN AR
(3) (a) N (b) AR T ST (4) (@) IO (b) TT T MR

Consider the following statements :

(a) National Food Security Mission (NFSM) was launched in 2007-2008.
(b) It aims at increasing production of rice, wheat and pulses.

Answer Options :

(1) only (a) is correct (2) only (b) is correct

(3) both (a) and (b) are correct (4) both (a) and (b) are incorrect

el HTATATS WA/ SPACE FOR ROUGH WORK A
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41. ‘st |@R g (1SA)' e @ISt Hor faue ade T ?
(1) et 121 R gqeH 996 <= TR,
(2) ¥ Hd 2w wehgw anfor fagaga wed sivr 9 o gEifae SR,
(3) WA YawuH S0 W TR A TEI0 gt GE wel B,
(4) & 30 A= 2015 TS A A% & Fot .
‘(\gxk; of the following statement is not correct about International Solar Alliance
(1) The Alliance is of 121 solar-resource rich countries.
(2) All of these countries, lying fully or partially between Tropic of Cancer and
Equator.
(3) The alliance was jointly launched by PM of India and President of France.
(4) The alliance was launched on 30'™ November 2015 at Paris.
42. TYFEHHA T 67 ASH AEE GE heA T,
(a) o< wH@EEYA (b) fa<ia e
(c) fo=m #a= (d) = fam
It I
(1) (a) ¥ (b) B (2) (b) & (c) ®
(3) (a), (b) & (c) T (4) (b), (c) T (d) Hd

Pradhan Mantri Jan Dhan Yojana (PMJDY) envisages :

(a) Financial inélusion (b) Financial literacy
(c) Insurance cover (d) Crop insurance
Answer Options :

(1) (a) and (b) only (2) (b) and (c) only

(3) (a), (b) and (c) only (4)  (b), (c) and (d) only

ol HIAMEIS! A/ SPACE FOR ROUGH WORK
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43. T 2018 =1 WA SDG v & avifae
(a) @ wEd feeE 57 R
(b) HENTE T & AHIEIA e THfae 7.
(c) I GV TeATE] THEY 39H ' 91 e Bl

ﬂ'ﬂfﬁ?ﬁﬁ':
(1) e (a) SR (2) A (b) wET
(3) W (a) A0 (b) S (4) TFE (b) M (c) AR

The 2018 SDG India index indicates :

(a) Average index for India at 57.

(b) State of Maharashtra is infront runner category.

(c) Uttar Pradesh Falls in the best category.

Answer Options :

(1) only (a) is correct (2) only (b) is correct

(3) only (a) and (b) are correct (4) only (b) and (c) are correct

44, ‘<TE- ST Sfet 9T SHEM’ SN Hen @6 g6 (Launch) AW @ 2

(1) 2004 (2) 2000 (3) 2009 (4) 2005
In which vear, the Indo-US Dollar Matching Grant’ project was launched ?
(1) 2004 (2) 2000 (3) 2009 (4) 2005

45, EEETE FUE faue/ faue s e/ 31Rd ?
(a) Fafore FTeEsA ST AR S Hoen a9 9 FaiE U RS §ed o ¥
T I@EA (GNP) 4.
(b) ST STET T S 297 IeqfEd B, T TR A 9 g, T FEEY @ T
e (GNP) el S,
(c) of U e B SIS S Wi e g,

WHTW:
(1) (a) =0 (b) (2) (a) 3T (c)
(3) (b) F () (4) e deE faum sl SRd

Which of the following statement/s is/are incorrect ?

(a) GNP is the total money value of goods and services produced by the nationals
during the given year.

(b) The part of income produced in the country but earned by foreigners is

included in GNP.
(c) Per capita income shows the marginal income of the people in the country.

Answer Options :
(1) (a) and (b) (2) (a) and (c)
(3) (b) and (c) (4) All the three above are correct

FoAT FHYTEE |/ SPACE FOR ROUGH WORK .
P.T.O.
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46. e o ;
e - A e -4
( anfefer gamom) (e )
(a) farmgeisro (i) oA Ty FEe
(b) &1 ST FEE (ii) W@ o fremfaa w0
(c) TeoeaEr s (iii) 3TEFN T
(d) STHR HES (iv) =HaE™ TWead yafdd w20
TgiEr I
(@) (b) (c) (d) (a) (b) (e) (d)
(1) (v) (iid) (i) (i) (2) (i) () (iv) (i)
(3) () (i) (i) (iv) (4) () (i) () (i)
Match the following :
Group - A Group - B
(Economic Reforms) (Objectives)
(a) Demonetisation (i) Checking black money
(b) New Benami Law (ii) Removing fake currency
(c) Bankruptcy Law (iii) Rationalising subsidies
(d) Aadhar Act (iv) Promoting ease of doing business
Answer Options :
(@) (b) (c) (d) (a) (b) (c) (d)
(1) Gv) (i) (i) (i) () @) @) (@v) (i)
(3) (1) () (i) (iv) (4) () @) (@) ()
.. 47. THEeA T SR (99 T UGd!) SRHE TRhaRid Qe TaEee SemEe ArEeUid

WSSTH I/ FI0 T aRE 3%/ 37ed ?

(a) 1983-84 W&l UV WIS NG 46.6 Tk aeh .

(b) 1993-94 THl 36.0 THF FHHE MG WA .

(c) 1990-91 W& 35.0 ZaF PIFHEA Y&l I AT W@ 2.

(d) 1987-88 HEA YRAT THFW 37.0 Tk SIhHeA A W@ e,
Peipiken

(1) f(a) @M1 () (2) (p)3O()  (3) (a) V(D)  (4) (o) ®e
According to the Planning Commission’s Estimates (Expert Group Methodology)

about percentage of population below the poverty line population, which option/
options of the following is/are correct ?

(a) In 1983-84, Rural area poverty was 46.6 percent.

(b) 36.0 percent of the population was below the poverty line in 1993-94.

(c) 35.0 percent of the population in Urban area was below the poverty line in
1990-91.

(d) In India, 37.0 percent of the total population was below the poverty line in
1987-88.

Answer Options :

(1) (a) and (c) (2) (b) and (d) (3) (a) and (b) (4) (c) only

oAl TUTAS A/ SPACE FOR ROUGH WORK
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_ 48. @oe faum faamg oy .

(a) TS ST ST St fci st vt 2015 g S 4.
(b)  FHIE ¥AF (i) i 3 it st wntest @ A,

Wﬂfﬁm:
(1) (a) W SR (2)  (b) T TR
(3) (a) #Wfor (b) = e (4) (a) 30f07 (b) S TF

Consider the following statements -

(a) Planning Commission of India was replaced by NITI Aayog in January, 2015.

(b) Normative Planning is a guiding principle of NITI Aayog.
Answer Options :

(1) (a) only is correct | (2) (b) only is correct

(3) both (a) and (b) are correct (4) both (a) and (b) are incorrect
.49, TEe faur faumma = .

(a) wHat fawm Al &1 SR, e sufor wevime gt 99 e &R,

(b)  TEVIHMT HISHIY ¥ TESHE T Qi Icdied a1 SR b J1d.

it 3T

(1) (a) e SUET 3T (2) (b) FEd SIS 38

(3) (a) ZMf0T (b) EE T ARG (4)  (a) S (b) FRTE TF e
Consider the following statements :

(a) HDI is a composite index of health, education and standard of living.
(b) The standard of living is measured by GDP per capita.

Answer Options :

(1) (a) only is correct (2) (b) only is correct

(3) (a) and (b) both are correct  (4) (a) and (b) both are incorrect

FoAT HMTETES WM/ SPACE FOR ROUGH WORK
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GATT (SR shite i 33 ofe ¥frpw) daivma qeie faur fammm =
(a) T (GATT) = T 1948 T A,

(b) A= Hew e (GATT) 9 23 T HeH &d.

(c) WTO Tz (GATT) & TF R Suuiferrll 2ire.

(d) feueg 3 aguaia TR FAH e’ ¥ FrET F.

ot For fauH/faum st e/ 31ed 2

(1) (a) 37for (d) (2) (a), (b) ST (d)

(3) (), (b) M (c) (4) ot T

Consider the following statements with reference to GATT agreement (General

Agreement on Trade and Tariffs).

(a) GATT was established in 1948.

(b) Initially, the total number of members of GATT was 23 countries.
(c) In a way WTO is the successor of GATT.

(d) GATT administers all bilateral and multilateral Trade agreements.
Which of the above statement/s is/are correct ?

S51.

(1) (a) and (d) (2) (a), (b) and (d)
(3) (a), (b) and (c) (4) All of the above
T faummE fa=9r #:4 :

(a) aamvﬁaqwm?ﬁuﬁw}mah—mﬁmah-mﬁmwm.
(b) T FEA - 14 TR ST FHTE IO .

gt 39T

(1) faum (a) @ a2 ST (b) fesmreh oo .

(2) (a) Z01 (b) S Faem < ST

(3) (a) faur we e WY (b) T AR

(4)  (a) #0001 (b) UEHETH Heiftrd .

Consider the following statements :

(a) The ratio of '4C to '?C changes continuously for dead bodies or plants.
(b) Radioactive isotope Carbon-14 is used in a Carbon dating technique.
Answer Options :

(1) Statement (a) is true and is a reason of (b)

(2) Both (a) and (b) are not true

(3) (a) is true but (b) is false

(4) (a) and (b) are not related to each other

AT HTATETS A/ SPACE FOR ROUGH WORK
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52." T FauT e vy

(a) Wﬂ;mﬁqﬁﬁmwmw@ —
(b) TEUA T IWE YeAtaite ST il
- 1 T fo am ard e,
(1) T I 5% s,

(2) (@) oo R 3 & () < iy o,

(3) (o) T4 R M1 F (b) <t Fmorfigmian A,

(4)  (a) TR T (b) T a1,

Consider the following statements :

(a) The speed of telecommunication satellite relative to earth is zero.

(b)  Hence it appears to be stationary to a person on the earth.
Answer Options :

(1) Both statements are false

(2) (a) is true and is a reason of (b)

(3) (a) is true and is not a reason of (b)
(4) (a) i1s correct, (b) is not

53. fefeam= wuige 12.5 o e @ e o em 2. 25 aufa e fefeam=n ol =i

we7g foeos e ?

(1) 0 (33) (2) (405 (3) 0.25 (4) 0.125

Tritium has a half-life of 12.5 years, undergoing beta decay. What fraction of
original Tritium will remain undecayed after 25 years ?

(1) O (zero) (2) 05 (3) 0.25 (4) 0.125

54.

FeT HTATETEr W/ SPACE FOR ROUGH WORK

S T AT qiTE Hiied ge fidat sTee deel e Hidfsied ®9 € :

(1) 180 ¥ () SFere W= Ao,

(2) @ 9ES TR AR

(3) 90 U (w/2) e fave Ao,

(4) fore drée o7 STEe SEOIR .

When a compression of sound waves is incident on rigid wall, it is reflected as :
(1) Compression with a phase change of = (by 180°)

(2) Compression with no phase change

(3) Rarefaction with a phase change of w/2 (by 90°

(4) Rarefaction with no phase change

P.T.O.
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« 55. s sy yfagdiae Wietetst S o sy e /

‘_‘

(1) U SR e

(2) TS S Ygh

(3) IO, Wl afor =z 9 smefte T
(4) St feema

Which of the following properties of atom could be explained correctly by Thompson
Model of atom ?

(1) Overall neutrality of atom
(2) Spectra of hydrogen atom

(3) Position of electrons, protons and neutrons in atom

(4) Stability of atom

56.

300 29 UH Yo© WUA yiafed 1 99 Woae 9@, S UH gfFed € ¥ 3.00 FEe, @ A
Hfe=amed @ gyiEEt aTeen fasn @ fad 2

(1) T 279.00 (2) ¥ 31.00 (3) T 27.00 (4) % 27.90

A washing machine rated 300 Watt is operated for one hour/day. If the cost of
one unit is ¥ 3.00, what will be the cost of the energy to operate a washing
machine for the month of March ?

(1) ¥279.00 (2) ¥31.00 (3) ¥ 27.00 (4) T27.90
57. WOENE __ FAH URANEA S SigR A wie s st gesigh ge e
"~ wm.
(1) =& (2) @dm (3) M (4) TR

is an Artificial method of Asexual Reproduction, used to produce plants,
combining desired stem with favourable Root Characteristic.

(1) Budding (2) Layering (3) Cutting (4) Grafting

AT FTUTATS A/ SPACE FOR ROUGH WORK
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58. g%mmmmmmmmwmmmmwm

Tt faum T SR e vt s swgr ot o et faamre @2

(1) TR TiEien SfHstiadtez @ s (sm e A S F
&FCT) FIHETTA] ST,

(2) FOIEEA " IRTEA " Yo g s,
(3) O NN A WV Uik Herem FiEm.,
(4) O TEwE SteTHe 9 G (freg) | o,

“Currently there is increased demand for fresh and good quality flowers for human
consumption worldwide”.

The above statement is based on the following potential values of flowers.
Which one is not appropriate with the context of above statement.

(1) Flowers are endowed with natural antioxidants and scavenging activity of
reactive oxygen radicals.

(2) Flowers are rich source of Anthocyanins.
(3) Flowers are attractive and help in pollination mechanism.
(4) Flowers are important source of vitamins and minerals.

59, ARG FF SAlesgd S .

(a) HY=@ F JUTHE HETEA (i) wmafH FA
(b) TEITHIAL (ii) Sfrarem A S Hle, 92e
() ST/ GAaARTE S (idi) SRS

o foban el Sare
(d) FORTETFETY (iv) A T o
ugtdr 39T

(a) (b) (c) (d) (a) (b) (ec) (d)
(1) (iv) (i) (i) () (2) (v) (1) (1) (i)
(3) (i) (iv) (i) () (4) (i) (i) (iv) (i)
Match the following with correct options.
(a) Inexhaustible resources (i) Anthropogenic activities
(b) Stratosphere (ii) Fossil fuels like coal and petrol
(c) Non-renewable resources (iii) Solar Energy
(d) Chlorofluorocarbons (iv) Rich layer of Ozone
Answer Options :

(a) (b) (e) (d) (a) (b) (e) (d)

(1) (iv) (iii) (i) (i) (2) (iv) (i) (i) (i)
(3) (iii) (iv) (i) (i) (4) (i) (i) (v) (1)

FoT FHETETS W0/ SPACE FOR ROUGH WORK ..
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60. vatETet Hefuq f=fefaa @ siren oEn

(a) @RISR (i) TR, §9g, T, 2 .
(b) PIUEHIST (i) ooy, grofl, gewshd S,
(c) BHSRRIST (iii) Yoo TyEdre, arg e
(d) 3fenteRrR (iv) gedten o9 (@eH=1) qEH
At 39

(@) (b) (e) (d) (a) (b) (e) (d)

(1) (1) (@) (1) (iv) (2) (iv) (i) (i) (1)
(3) (i) (v) (1) (iii) (4) (iii) (i) (iv) (1)

In relation to Environment match the following.

(a) Biosphere (i) Oceans, Seas, River, Lakes etc.
(b) Lithosphere (ii) Plants, Animals, Microbes etc.
(c) Hydrosphere (iii) Thick gaseous cover surrounding the Earth
(d) Atmosphere (iv) Solid Component of Earth
Answer Options :
(@) (b) () (d) (@) (b) (c) (d)

(1) (i) (1) @) @) (2) (iv) (i) (1) (i)
(3) (@) (v) () (i) (4) (1) (@) (v) (1)

61. WEEUFE FIUE NEAgeH U/ e ¢ fewdt feedt'” el =reremes g 2

(1) =i fewTg (2) feeot st

(3) N ATHAR (4) =rTE I

Which of the following Protozoan disease is transmitted by bite of tse tse fly ?
(1) Sleeping sickness (2) Delhi boli

(3) Kala azar (4) Chaga’s disease

" 62. FIUERE TEARHH FU R FS 2

(1) ourh (2) waH (3) T TH (4) wefew fa
The cell was first time described by

(1) Lamarck (2) Schwann (3) Robert Hooke (4) Rudolf Virchow

F5oAT FTATETS A /SPACE FOR ROUGH WORK
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63. TIEN® e a1 (9 waty fra)
. (a) IREIeS (i) s 76
(b) fushmmreey (ii) Sl S
(c) Teohzm (iii) ST ST
(d) IR SEE HTS (iv) SfeemeTar s
watdt I
(a) (b) (e) (d) (a) (b) (c) (d)

(1) (1) (@) (v) (i) (2) (i) (i) (iv) ()
(3) (iv) (1) (1) (i) 4) (@) () (v) (i)

Match the following (use correct codes) :

(a) Aristotle (i) Father of Medicine
(b) Theophrastus (ii) Father of Genetics
(c) Hippocrates (iii) Father of Botany

(d) Gregor Johann Mendel (iv) Father of Biology
Answer Options :

(a) (b) (e) (d) (a) (b) (e} (d)
(1) @) @) () (i) (2) (i) (@) (@) ()
(3) f(v) (iii) (i) (i) (@) (1) @) (@Gv) (i)

Y13

.. 64.

FFEE SR faum,/ A AR 9T W SR/ e 7
(a) TRETESR & FIRAE TqH TS A

(b) 3 saFa WO ST fRATeTE HTErE W e,

watdt 39T

(1) (a) ®ad (2) (b) e

(3) (a) 30007 (b) A (4) SR HUEE T

Which of the following statement/s is/are true for sarcomere ?

(a) A sarcomere is any segment of the fibre.

(b) It is a unit of histological structure and physiological action.

Answer Options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) None of the above

FoAT FHTATETS AT/ SPACE FOR ROUGH WORK
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*65. Y] WA, Wi S S Ko wedt A Na® AT
3.
(1) i, srfes (2) &, FH (3) afureh, FH (4) @, wfi

i i : i ntration
In vertibrates, inside the cells and tissues, there is a conce of

K* ijons and  concentration of Na™ ions.
(1) Low, High (2) Low, Low (3) High, Low (4) High, High
66. THERE Wer faeaTE a@ 6 I, Seel AfufFHa gH I 990 @ __ .
(1) >0
(2) <O
(3) =0

(4) HF S a5 N fagamee serE g6y el

The EMF of a chemical cell is positive, when the free energy change of the reaction
is

(1) >0
(2) <O
(3) =0

(4) No relationship between the free energy change and EMF

67. Go@dh! Hive THEE s sifeafeso- e a1 g HJedn ?
(a) 2Mg + O, — 2MgO
(b) MnO, + 4HCI - MnCl,+2H,0+Cl,
(c) 2Na + Cl, — 2NaCl
(d) 2NaBr + H,0, — 2NaOH + Br,
ugtdr 34T
(1) ®H (@), (d) (2) FH(D), () (3) FH(@), () (4 =HewE
Which of the following are Oxidation-reduction reactions ?
(a) 2Mg + O, - 2MgO
(b) MnO, + 4HCI —» MnCl,+2H,0+Cl,
(c) 2Na + Cl, - 2NaCl
(d) 2NaBr + H,0, —» 2NaOH + Br,
Answer Options :
(1) Only (a), (d) (2) Only (b), (c) (3) Only (a), (b) (4) Al of the above

oAl FUETE F/SPACE FOR ROUGH WORK
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'68. IS [Ni(CO),| FAMHA /ST (complex) Teh fovirs soapteht e s
(1) 0 (2) 1 (3) 2 (4) 3
The number of unpaired electrons in tetrahedral [Ni(CO),] complex is
(1) 0 2) 1 (3) 2 4) 3

_69. TS HMY GRS g S6Ed ?

(1) e Hefo

(2) e 3 o

(3) ==, Hefe anfon & Siaaae

(4) <RI

Which of the following is/are terpenoid/s ?
(1) Only menthol

(2) Only Vitamin A

(3) Both menthol as well as Vitamin A

(4) Neither menthol nor Vitamin A

70.* yf= SEdaRvide STt e @1 sadt oy faara S @eetet wor faue st

e ?

(a) T%F @I SAGHET A2 (b) TEA WS AHT FHT B

(c) eHEFEA STarHS STAHl ded. (d) TSEIHSA SRS AT FHH B

TEiE I

(1) (a), (d) (2) (a), (o) (3) (b), (d) (4) (b), (o)

In modern periodic table, which of the following statements about atomic radius
are true ?

(a) Increases from top to bottom (b) Decreases from top to bottom
(c) Increases from left to right (d) Decreases from left to right

Answer Options :
(1) (a), (d) (2) (a), (c) (3) (b), (d) (4) (b), ()

oA SHATATS AT/ SPACE FOR ROUGH WORK ..
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71, Sl mfdt snemETE @R H e aYaT e 7

(1) ﬁwmwmmq@mmmW

) e s s e s e e AT S S
TR ol .

(3) 3y S we e g feban AR 70 o gof Egwedd e . _

Wﬂmmwwwmwmwﬁmwwwwmmwi
3 Wifedt SRR TETSA HoTEH e T urd Fuiae S e 19 uﬂwwma@ﬂ |

Which of the following statements regarding Central Information Commission 1S

correct ?

(1) It is a constitutional body includes one C
not more than Five Information Commissioners (I

(2) The CIC and ICs are appointed by the President on
committee headed by the Home Minister. '

(3) They hold office for a term of 5 years or until they attain the age o

(4) They are not eligible for reappointment, but Information Commissioner is

eligible for appointment as Chief Information Commissioner but cannot hold

office for more than a total of five years including his term as Information
Commissioner.

fyeqr e AT ¥ Afedt

hief Information Commissioner and
&8,
the recommendation of

f 70 years.

72, Hfadee Af9ar@dr=Al (Cabinet Secretariat) Hewiq @E@TH FE U W 3ed 2
(a) dTH. 1950 HEA TI9F F0AE .

(b) 7 TawHIeAl ARG HH F.

(c) q W A (Line agency) TR,

(d) 3 ¥z TERHS) T FHATH A H1 H.

W‘hﬁ‘aﬂi‘:
(1) (a) 30T (b) (2) (), (b) 37O ()
(3) (b) oI (d) (4) (a), (c) 30T (d)

Which of the following statements are true about the Cabinet Secretariat ?
(a) It came into existence in 1950.

(b) It operates under the direction of Prime Minister.

(c) It is a Line agency.

(d) It functions as the Chief coordinating agency in the Central Government.
Answer Options :

(1) (a) and (b) (2) (a), (b) and (c)

(3) (b) and (d) (4) (a), (c) and (d)

% FTATATE W1/ SPACE FOR ROUGH WORK
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73. TOTPIHT 1T o1 € RIS ST TR FHEHT aasd o ?

Y

(1)
(2)

(3)

(4)

TH-THAME A T Tgde Iqdte = F&d iy H707 3nfor w7y o 20,

FHIAT TG H0I.
AT gatan faha FEan stoar 9a-159 9 v fEar sfus o 9= sah guEE feagay
3R ren fawamared =gy o anfor g4t FHo,

e HIvrArel fawara formrett enfon, fadiea: @ fawaramaas Swror anfon srar g stfus
T YR THY WUl et o,

Which one of the following matters stands excluded from the jurisdiction of
Inter-state council in India ?

(1)

(2)

(3)

(4)

Enquiring into and advice upon disputes which may have arisen between
the states.

Adjudication of any dispute with respect to the use, distribution or control of
water of any inter-state river.

Investigation and discussion of subjects in which some or all of the states or
the Union and one or more states, have common interest.

Making recommendation on any such subject and in particular,
recommendations for the better coordination of policy and action with respect
to that subject.

_74. I FEEAE AEHE RUA THE FOAEET WO S EY garar 3R 2

(1)
(2)
(3)
(4)

ot S YT WIS &1 <@l 96 A Jaer Eel qifes.
=1 AfHRH I AN S8 1 Aol hoo! TH! e,
Tt WA |l oAl ST wEead SH! ife.
FAEE! THe! .

Which of the following has been wrongly listed as criteria for appointment as a
judge of the High Court ?

(1)

(2)
(3)
(4)

He must have been held a judicial office in the territory of India for ten
years.

He must have been an advocate of a High Court for ten years.
He must, in the opinion of the President, be a distinguished jurist.

None of the above.

oAl HIATETST W1/ SPACE FOR ROUGH WORK
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75..

36

Gt Foren srem v fd Jeea e 2

(a) oA F=T . mmwwmqu
a4

(b) ¥H WEE . gmw(aa)gwgaﬁwﬁﬁm.

(c) E L e AT S TS TG FRATET e
T Heq THE AT T AT

(d) eedEn qe L i feden ST YT SRS AT TR

Tt I

1) @, b (2) (a), (o) 3) (), ©, d (4 (a), (@

Which of the following pairs are not correctly matched ?

(a) Calling attention Motion - To draw attention of the Minister on matters
of urgent public importance.

To adjourn the House before the expiry of the
time.

(b) Adjournment Motion

(c) Privilege Motion - To draw attention of the Speaker towards when
the proceedings of the House do not follow rules

of procedure.

(d) Point of Order - To draw attention of the Speaker towards
incorrect/incomplete answer by a Minister.

Answer Options :
(1) (a), (b) (2) (a), (c) (3) (b), (c), (d) (4) (a), (d)

76.

TS e ST fehan T i were fie srEoen Frerd Reford He Hom
aTfErE Faw 4, 9, S, T A1 e At SR SR T RS SO AE @
TR AT T GIASTH HIVA ST e ?

(1) 30 (2) 16 (3) 28 (4) 29

‘No citizen shall be denied admission into any educational institution maintained
by the state or receiving aid out of state funds on grounds only of religion, race,
caste, language or any of them.” This provision is contained in which of the
following articles of the Indian Constitution ?

(1) 30 (2) 16 (3) 28 (4) 29

#F5AT FHTATATST AN/ SPACE FOR ROUGH WORK
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77. OFHTA Gy WA @t faur faamm o
" (a) mﬁ/ﬁéwmﬁwuﬁaﬁ%ﬁmwﬁaﬁm.
(b) =/ faen qur W@ fasmrof forar ga fa A9 @,
(c) m/muwmwwmmwmmmwﬁ

L A,
(d) e/ fa= T S-YagaEe ) s
it faumitst HIod avrEw s ?

(1) (a), (b), (c) (2)  (b), (), (d) (3) (a) @nfOT (b) (4) =fe T

Consider the following statements regarding the position of the Speaker of

Lok Sabha.
(a) His/her salary and allowances are charged on the Consolidated Fund of
India.

(b) He/she has no vote except in case of a tie.

(c) He/she can be removed by a resolution passed by a majority of the members
present and voting in the house.

(d) He/she has a higher rank than Deputy Prime Minister.

Which of the above statements are correct ?

(1) (a), (b), (c) (2)  (b), (c), (d) (3) (a) and (b) (4) All above

78. Wl faum faarm =0 anfor g vty fae,
(a)  SRAT, ¥ TRl a8 Shefes Tgadren Y- Rarni Gg2ns qies 9g v,
(b)  STARET Yol Tl TERATT R S -qaarer eeh Tearrean fafuszagR W= s snavas
394
(c) qum@mmmﬁwmm%mm
(d) LA, TS 930 Fa e TUFTEH! Y0f SgHar Hesed] FHERER F3d I,

uIrEt 39T

(1) (a), (b), (0 (2)  (b), (c), (d)

(3) e (a) HATM (b) (4) e (c) 31T (4)

Consider the following statements and choose the correct code.

(a) In India, a constitutional amendment bill can be introduced in the Parliament
only with the prior permission of the President.

(b) In U.S.A., every constitutional amendment must be ratified by at least
two-thirds of the state legislature.

(c) In Switzerland, no alteration of the constitution can be effected without
resorting to a referendum.

(d) In Australia, the constitution can be altered only by an Act passed by an
absolute majority in both houses.

Answer Options :

(1) (a), (b), (c) (2) (), (@), (d

(3) Only (a) and (b) (4) Only (c) and (d)

F oA FHETATE AT /SPACE FOR ROUGH WORK e
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797 WiASUH! HIv faur/ A aR/a?
(a) ToA9EHR SE-111 ¥ a1 fadaai=a (money bills)
(b) FE-117(3) @A Avitag @ fa fad (financial bil

1) ¥ ¥ BEATIIR Az

Y. :
(c) mar;;@z-u?(l) @ dvftag e faw fadad (financial bill TEFEYl STHAT 941 53
& Y L.
g 39T
(1) W (a) (2) (b) 3 (c)
(3) =liele! wHdl T (4) A ()

Which of the following statements is/are correct ?

(a) Article-111 of the constitution deals with the definiti

(b) A bill categorised as financial bill under Article-117
only in the Lok Sabha.

(c) A bill categorised as financial bill under Article-117(1) cann
amended by the Rajya Sabha.

Answer Options :

(1) Only (a) (2) (b) and (c)

(3) None of the above (4) Only (¢

on of money bills.
(3) can be introduced

ot be rejected or

 80. WP faumiE Fr faur et T 2

(1) 3T=% 200 ST T Tasre Teaden faemd T 39 wehdr.

(2) mﬁﬁ&wnﬁmﬁmﬁfwﬁﬁwmﬁmmﬁ%ﬂéﬁm.

(3) w0 3 iy TeataTiTEa T qeRiae St e e Ho e R TS He
mmnﬁﬁﬁmﬁmémm.

(4) T e faemd g eee fatEwE W fwd swremasmed fom e
TETEd T HIVHE F@RAT Haoe! el

Which one of the following statements is not correct ?

(1) Under Article 200, the Governor may reserve the bill for the consideration of
the President.

(2) President may direct the Governor to return the bill for the reconsideration
of the State Legislature.

(3) If the bill is passed again by the State Legislature with or without amendments
and presented again to the President for his assent, the President is bound
to give his assent to the bill.

(4) The constitution has not prescribed any time limit within which the President
has to take decision with regard to a bill reserved by Governor for his
consideration.

FHo=T FTATATS AT/ SPACE FOR ROUGH WORK
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81. 'favraifysn wfndt’ Hevia @Eets R faum s @2
$ . * -
(1) S fam-222 afn geaas=n fau- 187 # fasmfusrmEatt A,
(2) THEVd 15 Ge& g favrfimr afadt & qumd FmiEred FHm.
(3) TwIHYT Iwegy ¥ favmifusr afd yg@ swam = |fEdd 15 Fe ST,
(4) aO@UF! UFE AT
Which one of the following statements about ‘Privilege Committee’ is not
correct ?
(1) Rule No. 222 of the Lok Sabha and 187 of the Rajya Sabha governs privilege.
(2) In the Lok Sabha, the Speaker nominates a Committee of Privileges consisting
of 15 members.
(3) In the Rajya Sabha, the Deputy Chairperson heads the Committee of Privileges,
that consists of 15 members.
(4) None of the above.
82." WHIE e faar =,

(a) VWIYEHR 7 Fs TEAHS 3R

(b) =l favmml € wes T oo Fg e Fel AR,

(c) WYl Heh Toaren fadasiat fuias (Fqui) ThrIfasr amgtar.

(d) = YIEA T TT=A1 SEAeA oA AE, € S S 99w % v

FEIHT HIOTA TR/ TS THEA TGRS ToTEA € s FomaeTs et aqe! 3754 ?
(1) % (a) (2) (), (c) 3 (d)

(3) (), (c) =0 (d) (4) =iowd

Consider the following provisions.

(a) The residuary powers have been left with the centre.

(b) The powers divided between states and the central government.
(c) President enjoys absolute veto over state bills.

(d) The Union can change the name, area and boundary of a state without its

consent.
Which of the above, if absent, would make the Indian Constitution more Federal
in nature ?
(1)  (a) only (2) (a), (c) and (d)
(3) (b), (¢) and (d) (4) All above

AT HTHEE AT/ SPACE FOR ROUGH WORK
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o a1 ufifeerdiye ‘s wfpaden’ =me fre.

(a) e fafurizs Y FaEEH YR YrEUEE FHES 2.

(b) AR (Hung) fafudes sman war & wed Fa%9d 9 sfey 0.

(c) Sreg T A YT SRR w H S 3.

(d) e THReE Y& STE siqvy e e geudn .

it I

1) @, 0,6 @ O, @ @ FHow (4) I (b) A (c)

The situations that leads to ‘Judicial Activism’ are :

(a)
(b)
(c)
(d)

When the legislatures fails to discharge its responsibilities.

In case of hung legislature where the government is very weak and instable.
When the government fail to protect the basic rights of the citizens.

When the party in power misuses the courts of law for ulterior motives.

Answer Options :

(1)

(a), (b), (c) (2) (b), (c), (d) (3) All above (4) Only (b) and (c)

84, EEGTH FIUE A SET A 2

(1)

(2)

(3)
(4)

mmmw@maﬁmmmnwmmm
L.

mﬁmﬁmmm@mmﬁmwmﬁamﬁfm IS
o OizEa At Tefae e

=7 fafidzan =19 Foo faar (vd) fesrras dyv9 g9eat 794,

Which one of the following statements is not correct ?

(1)
(2)

(3)
(4)

No bills for the formation of new state shall be introduced in either house of
Parliament except on the recommendation of the President.

The President before introducing the bill in the Parliament shall refer it to
the concerned State Legislature for its views within a specified time limit.

Parliament can form a new state only by a law passed by a special majority.

The Parliament is not bound to accept the views (opinion) of the State
Legislature.

oA FIHTATS AT/ SPACE FOR ROUGH WORK
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85. U o SN wed @ R e o

41 Y13

(a) T Fa RO Welwer fa@n 1986 w5 FToAT .

(b) 2003 WHi® HROTTHR ot =W 15-35 Fanmerde =@t 9 H 1,

(¢) 2014 H¥@ HRITHR a1 Fanert sqmen 15-20 a1 319t Fat .
ST FvR faur/ 3 s o/ 2

(1) T (a) (2) (a) 3 (b)  (3) (b) = () (4) HH (o)
Consider the following statements about ‘National Youth Policy’.

(a) The First National Youth Policy was adopted in 1986.

(b) In the 2003 policy, ‘Youth’ was defined as a person of age between 15-35.
(c) In the 2014 policy, the youth age-group is defined as 15-29 years.

Which of the statements given above is/are correct ?

(1) Only (a) (2) (a) and (b) (3) (b) and (c) (4) Only (c)

86. WO FY4 THE = :

(a) TeHa 2017 787 it WeTeAy T FEH A TR BARR A Wiee TUAT IIHIA
E)

(b) HEATA BARR AEU=AT HIHESEEG YRAGR Fel F0AE A, Grar &= any a2t
FAfAUATET 1 YRarH ufed 9@ HUe.

F@aa! FIvd /A faur/A s e ?
(1) ™= (a) (2) W (b)
(3) (a) #0T (b) ST (4) (a) 3nfor (b) =T T

Consider the following statements :

(a) The first phase of the Chabahar Port was inaugurated in December 2017 by
Iranian President Hassan Rouhani.

(b) India has taken over operations of the strategic Chabahar Port. This is the
first time India will be operating a port outside its territory.

Which is/are the above incorrect statement/s ?

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

Tl HTATHEIS F/SPACE FOR ROUGH WORK
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- 87. WS v HfETEEdiT 2010 W Fv FEwErE i AU S
(1) Yeats grvgmdt Rieam g s Afadn
(2) wagHTE AfHEHR
(3) HEarem WoHaH AfTHER
(4) TR AR

Which of the following decisions were taken with reference to Iranian Women in
20197

(1) Right to watch football in stadium
(2) Right to vote

(3) Right to own family property

(4) Right to Divorce

88~ AN FuA/A 3l - (15 = ford S =)
(a) TAF. THT ¥ ST A AR
(b) sRfeg HEal & SAETE HIH IR
(c) =i @iy fam ¥ s wfed e

Wh"f?fﬁ‘:
(1) = (a) (2) THE (a) M (b)
(3) = (b) 3 (c) (4) ®H ()

Select the correct statement/s (Regarding 15t Finance Commission) :
(a) N.K. Singh is the Chairman of Commission.

(b) Arvind Mehta is the Member of Commission.

(c) Dr. Anoop Singh is the Secretary of Commission.

Answer Options :

(1) Only (a) (2) Only (a) and (b)

(3) Only (b) and (c) (4) Only (c)

& 5AT FTHTATS AT/ SPACE FOR ROUGH WORK
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" 89. 3ME e fawd wra faue v
(@) ¥ UF Ihfeaia wEmE wie
(b) & SEreM Yo swewifen Az R,
(c) N ST FHISIE 40% YT A 32,
(d) B STE WIS, SHAR S ek e s,

whﬁwﬁ :
(1) (&), (b), (¢), () (2) (a), (b), (c)
(3) (a), (d) (4) (a), (b), (d)

Find the correct statements about Amazon forests.

(a) It is tropical rain forest.

(b) It has Atlantic Ocean at its east side.

(c) It occupies 40% of Ecuador’s total area.

(d) It is home of Macaws, Toucans and Black Skimmers.
Answer Options :

(1) (a), (b), (c), (d) (2) (a), (b), (¢)

(3) (a), (d) (4) (a), (b), (d)

*90. FUEA YRAE WS 2019 HeA AW F2-frah wr Fh 2

(a) Fofcy a_a (b) HrewE vt
(c) STEYId AR (d) ez 2=
ugtdr 39T ;

(1) (a), (b), (c) (2) (b), (c), (d) (3) (), (b), (d) (4)  (a), (c), (d)
Which Indian bowlers to pick up an International hat-trick in 2019 ?

(a) Kuldeep Yadav (b) Mohammed Shami

(c) Jasprit Bumrah (d) Ravindra Jadeja

Answer Options :

(1) (a), (b), (c) (2)  (b), (c), (d) (3)  (a), (b), (d) (4)  (a), (c), (d)
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A=A TAEE wifen fawedt v fawe v

(b) w1ty wfereqor <fern A9 g A HiEE de A9 R AR,

(c) = wifgd soon dausriA 2014 7 HA . ‘

(d) 7/ Firirer 2022 T U W Y U A siatedie are el FA A1
3R

'qﬂhﬂ?ﬁﬁ’
(1) (a), (b), (), (d) (2) (b), (c), (d)
(3) (c), (d) (4) (b), ()

Find the incorrect statements about Gaganyaan Mission of India.

(a) Four pilots from Indian Air Force were short listed to be astronauts of
Gaganyaan.

(b) They will be trained at Yuri Gagarin Cosmonaut Centre in Russia.

(c) This mission was announced by Prime Minister in 2014.

(d) It is scheduled for 2022 with team of 5 crew members and a month long stay
in space.

Answer Options : :
(1) (a), (b), (c), (d) (2) (b), (), (d)
(3) (c), (d) (4) (b), (c)

92.°

U@uﬁmwﬂzmgmaﬁmaﬁmmﬁmmmm'm'mmf@nm
TEvam 3. w91 fomr foee= ot F w2

(1) siFw = (2) TWEHEISE

(3) TR TG Ul (4) TIT Fohui

Shrinivas Pokale won the Best Child Artist Award for his film ‘Naal’ at the 2019
National Film Awards. Who amongst the following has directed this movie ?

(1) Ankush Chaudhari (2) Nagraj Manjule
(3) Sudhakar Reddy Yakkanti (4) Gargi Kulkarni
L
93. s faur i

(a) 23 WIMHS) Hifewd SFHEH FEHR 2019 0AM .

(b) % TR A SEAH & S| 9 Sy & S .

(c) T S O I A A TR SEAEE! R 2019 7 frere.
(d) Fo e A vl ot A e 2019 WE [UEER e

It 3T
(1) (a), (b), (c), (d) (2) (a), (b)
(3) (b), () (4) (a), (b), ()

Find the incorrect statements from below :

(a) Sahitya Academy Awards 2019 were given in 23 languages.

(b) These awards can be given to biography but not to autobiography.

(c) Marathi writer Anuradha Patil received award for her short stories in 2019.
(d) Mr. Shashi Tharoor’s book won prize in English category in 2019.

Answer Options :

(1) (a), (b), (c), (d) (2) (a), (b)

(3) (b), () (4) (a), (b), (c)
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SIS Heid wien syaayig Homfe gof e,

(1) Ry (2) @ frw (3) Forwme w@dE (4) e wHE
The largest invertebrate, a spineless creature, in the world is

(1) Octopus (2) Cuttle Fish  (3) Colossal squid (4) Giant squid

T TN HTAL A Wi 2 T S 2 7R, 2019 6@ @detE o fae
Fot?

(1) %21 g (2) o JYEAE
(3) sl St (4) e fagoe

Who amongst the following was chosen as the ‘Time Person of the Year, 2019’ by
the Internationally acclaimed magazine-Time ?

(1) Greta Thunberg (2) Malala Yousafzai
(3) Rishi Joshi (4) Kate Winslet

96.

TR o Sl Fidie dmfaan favdt @ faum ae.

(a) SeTE S AT SRS HENEH 390 S FO 377,

(b) SeHTE & WG sgTele FLETET 97T 8.

(c) W= FE B HAZH "o Fierr o1,

(d) TP A TUTIA e | 9 e gag 39 e yefad o,
qaidr 3T

(1) (a), (b), (¢), (d) (2) (b), (c)

(3) (b), (d) (4) (a), (b), (d)

Find the incorrect statements about boundary dispute between Maharashtra
and Karnataka.

(a) Belgaum is claimed by Maharashtra on linguistic basis.

(b)  Belgaum was part of Hyderabad princely state before independence.

(c) Currently Belgaum is district of Karnataka.

(d) Boundary dispute case over Belgaum is pending before Bombay High Court
from many years.

Answer Options :
(1) f(a), (b), (c), (d) (2)  (b), (o)
(3) (b), (d) (4)  (a), (b), (d)
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97.“Wmfaﬂ1ﬁ‘q’fmﬁuﬁﬁa—g:
(a) R T GYIER Gade T for s ad A T ST S
(b) RAM & Gahea fafew dudig yonedrgA Sad .
(c) sifafiaa WdIcr=N WerAss Udh YA Yalg 316l
(d) Wﬁﬂwﬁmmmmmﬁmﬁ?ﬁﬁmmﬁﬁmm

ehd el
i I
(1) (a), (b), (c), (d) (2) (a), (b), (c)
(3) (a), (c) (4) (a), (b), (d)

Select the correct statements about Whip in India :

(a) Whip is responsible for the party’s discipline and behaviour in the house of
legislature.

(b) India inherited this concept from the British Parliamentary System.
(c) There can be chief whip, assisted by additional whips.

(d) In presidential elections whips cannot direct a Member of Parliame_nt (MP)
or Member of Legislative Assembly (MLA) to vote in a particular fashion.

Answer Options :
(1) f(a), (b), (c), (d) (2) (a), (b), (c)
(3) (a), () (4) (a), (b), (d)

« 98, X g™ FETEdl fawdt g faur e
(a)  TEEG 1946 HHA TR HOAL.
(b) S TR IS U, TR TeE Ho T
(c) aﬁﬁnamlg?o#mﬁmmammm.
(d) wﬁmwm@mmmm.

It 39
(1) (a), (b), (c), (d) (2) (b), (c), (d)
(3) (b), () (4) (b), (d)

Find the correct statements about Aarey Milk Colony.

(a) It came up in 1946.

(b) Pt. Jawaharlal Nehru inaugurated the Aarey Colony.

(c) After 1970 film city was carved out of Aarey Forest.

(d) It came up on the land given to the department of dairy development.
Answer Options :

(1) (a), (b), (c), (d) (2) (b), (0), (d)

(3) (b), (o) (4) (b), (d)
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¢99. VRS gr=n TurEe e fomedt @ faum o
(a) & faceriar gt o @ e,
(b) @l & frdvie sifier qadt s yguoIE TAe s ST,
(c) WRATd 500 Tori=n/ feg= wwro arTan.
(d) & Frdoen dismoararet wifer g uguaeA SHerwToE qie .

Wfﬁ'?.ﬁ :
(1) (a), (b), (c), (d) (2) (a), (b), (c)
(3) (b), (c) (4) (b), (c), (d)

Find out correct statements regarding Air Quality Index (AQI) in India.

(a) It reports quality of air on a daily basis.

(b) Higher the AQI value, greater the level of air pollution.

(c) India follows 500 points scale.

(d) Monitors record concentration of the major pollutants to calculate AQI.
Answer Options :

(1) (a), (b), (c), (d) (2) (a), (b), (c)

(3) (b), (c) (4) (b), (c), (d)

100, aT= T FIved faswrg g 3fEwe 1 -
(a) “IvCT WIVETOT=AT Y LR YT e Taed= &l
(b) T e Hved TR S H.
(c) Tormm e fawm A= qRuHER TS Jedidd Hol.
(d) o4 GUETHEET AfYF WEaca Aiee™ Qe Hivl.

ggrEr 39T
(1) ™ (a), (b), (c) (2) % (b), (c), (d)
(3) W (a), (b), (d) (4) E (a), (o), (d)

Objectives of National Skill Development Agency of India are :

(a) Support to government of India’s five year plan for skills training.

(b) Organize skills development across all factors.

(c) Evaluate the effectiveness of existing skill development programs.

(d) Empowerment of women through economic independence for betterment of

society.
Answer Options :
(1) Only (a), (b), (c) (2) Only (b), (c), (d)
(3) Only (a), (b), (d) (4) Only (a), (c), (d)
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(9) wmmmmmwmﬁwﬂwm ; 3
SO A ST, mmmm@mmmm-1m&m
foraaT W 0T ATEvaE e

i LI A

W F. 201. Tl =6 T FOAEE! IO Fed: TS el ?
(1) @ A (2) Tvardz faEmre
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